n/n [HammeHosaHue Matepwuan OnvHa, mm |Kon-Bo, Wwr.
1|AK 21x15x28,3 Tpy6a x/a,25x5, ct20 28,3 4
2|OK 21x15x64,3 Tpy6a x/a,25x5, c120 64,3 p
3[AK 21x17x10 Tpy6a x/a,25x5, ct20 10 4
410K 21x17x27 Tpy6a x/a,25x5, c120 27 2
54K 21x17x5 Tpy6a x/a,25x5, ct20 5 2
6|4K 25x20x47,3 Tpy6a x/a,25x5, c120 47,3 4
7|M.YWNM.03.02.01 - Ocb P-500 Tpy6a x/a,25x5, ct20 550 6
8|Kopnyc noawmnnHuka 102 Tpy6a x/a,40x8, c120 20 8
9|M.YINN.03.02.02 - Tpy6a P-500 Tpy6a x/a,40x4, cTt20 550 6

10|Ocb 2003 Kpyr 20 KannbpoBaHHbIN, cT40X 816,6 2
11|Ocb pblyara 3ananiimnKa Kpyr 20 KannbpoBaHHbIN, cT40X 816,6 1
12|XBocToBMK 1603 Kpyr 25 KanmbpoBaHHbIN, cT40X 124 2
13|XBocTtoBuMK 1603X Kpyr 25 KannbpoBaHHbIi, cT40X 124 2
14|XBocToBMK 2403 Kpyr 25 KanmbpoBaHHbIN, cT40X 183,3 2
15[XBOCTOBMK NPMUBOAHOM Kpyr 25 KannbpoBaHHbIi, cT40X 251,3 2
16|XBOCTOBMK CO 3BE3404KOM Kpyr 25 KanmbpoBaHHbIN, cT40X 183,3 2
17|XBocToBuMK X Kpyr 25 KannbpoBaHHbIi, cT40X 183,3 2
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